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1.  A source supplies a load consisting of a 20 ( resistor and a capacitive


reactance of -10 (, which are connected in parallel.  The instantaneous


voltage of the source is given by v(t) = 120 cos((t +45o) V. Find:

 
a. Phasor voltage of the source


b. Phasor current supplied by the source


c. Instantaneous current supplied by the source

d. Real, reactive, apparent, and complex power of the source

e. Power factor angle, and power factor.

2.  Repeat Problem 1, if the resistor and the capacitor are connected in    

     series. 

3. Find the source phasor current in RMS for the shown circuit.
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4. For Problem 3, calculate:


a. The load S, P, Q, and S (complex power)

b. Draw the load power triangle

c. Capacitance of a capacitor which corrects the load power factor to 

    0.8 lagging, unity, and 0.8 leading
25Ω





0.5 H





10 cos (100t +25o) V








